
SV
9683.5xx
9683.6xx

Dok.-Nr. / No of doc.: D-0000-00001637-00
Versandbeutel-Nr. / No. of accessory bag: 373676

Ident-Nr. / Part No.: 340915
Lieferanten-Nr. / No. of supplier:

4x M8x16

www.rittal.com

14x M5x12

4x M8

1x M8x30

1x M8

1x A8,4

1x Ø 8,2x16

1x M8

2x

W
[mm]

H
[mm]

Best.-Nr.
Model No.
Référence

600 150 9683.561

600 200 9683.562

600 300 9683.563

600 400 9683.564

W

H

W
[mm]

H
[mm]

Best.-Nr.
Model No.
Référence

1000 400 9683.604

1000 600 9683.606

1000 800 9683.608

1200 400 9683.624

1200 600 9683.626

1200 800 9683.628

400 200 9683.642

400 300 9683.643

400 400 9683.644

400 600 9683.646

400 800 9683.648

600 1000 9683.660

600 1500 9683.661

600 200 9683.662

600 300 9683.663

600 400 9683.664

600 600 9683.666

600 800 9683.668

600 1200 9683.672

600 1400 9683.674

600 1600 9683.676

600 1800 9683.678

800 1000 9683.680

800 1500 9683.681

800 200 9683.682

800 300 9683.683

800 400 9683.684

800 600 9683.686

800 800 9683.688

800 1200 9683.692

800 1400 9683.694

800 1600 9683.696

800 1800 9683.698

MA = 2 Nm



1 2

M8

M8x30

M8
A8,4
Ø 8,2x16
M8

MA = 10 Nm

3 4

M5x12

MA = 5 Nm

5

7

M5x12

M8x16
MA = 9 Nm

TX30

SW13

6


	Datum 4: 
	Textfeld 1: 


